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TESTS FOR ENGLISH MAJORS
— GRADE FOUR —
TEST ONE

TIME LIMIT : 130 MIN

PART I DICTATION [15 MIN]

Listen to the following passage. Altogether the passage will be read to you four times. During the first
reading , which will be read at normal speed, listen and try to understand the meaning. For the second
and third reading , the passage will be read sentence by sentence, or phrase by phrase, with intervals of 15
seconds. The last reading will be read at normal speed again and during this time you should check your

work. You will then be given 2 minutes to check through your work once more.
Please write the whole passage on ANSWER SHEET TWO.

PART @I LISTENING COMPREHENSION [15 MIN]

In Sections A, B and C you will hear everything once only. Listen carefully and then answer the

questions that follow. Mark the correct answer to each question on your answer sheet.

SECTION A CONVERSATIONS

In this section you will hear several conversations. Listen carefully and then answer the questions that
Sfollow.
Questions 1 to 3 are based on the following conversation. At the end of the conversation, you will be

given 15 seconds to answer the questions. Now, listen to the conversation.

1. Whom are the speakers most likely talking about?

A. A girl John knows but Becky not. B. A girl Becky knows but John not.
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C. A girl both John and Becky know. D. A girl neither John nor Becky knows.
2. The woman does not put

A. lots of make-up on her face B. anything on her face for beauty

C. any greenish things on her face D. some little cucumbers on her face
3. Which of the following is true, according to the conversation?

A. The woman is very jealous. B. The man is not aggressive.

C. They don’t like watching TV. D. They are tired of commercials.

Questions 4 1o 6 are based on the following conversation. At the end of the conversation, you will be

given 15 seconds to answer the questions. Now, listen to the conversation.

4. Which of the following is most likely the place the man visits?

A. A furniture store. B. A confectionary.

C. A greengrocery. D. A barber’s shop.
5. What is the man doing?

A. He is just browsing. B. He is looking for a mattress.

C. He is just trying to kill time. D. He is interested in buying something.
6. If the man intended to purchase the mattress, all of the following would be offered EXCEPT

A. a very good financing plan B. some promotion benefits

C. a ten percent discount D. a life-time warranty

Questions 7 to 10 are based on the following conversation. At the end of the conversation , you will be

given 20 seconds to answer the questions. Now, listen to the conversation.

7. What are the speakers talking about?
A. Cyril and his marriage. B. Ibsen and Butler’s marriage.
C. Aunt Celia and her marriage. D. Katharine’s mother and the marriage.
8. What is the attitude of the man towards the marriage?
A. He is greatly affected. ' B. He regards it as nonsense.
C. He doesn’t care a bit about it. D. He is much upset at the news.
9. Which of the following is most probably NOT what the woman is going to do?
A. She thinks it better for her to go to see Cyril.
B. She is going to say “yes” to Cyril’s marriage.
C. She is going to do something about the marriage.
D. She is determined to tell her mother about the marriage.
10. Which of the following is NOT true, according to the conversation?
A. Aunt Celia has confirmed the news about the marriage.
B. Aunt Celia has written them the letter about the marriage.

C. Aunt Celia will come to see them to talk about the marriage.
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D. Aunt Celia has concealed the news of the marriage from them.

SECTION B PASSAGES

In this section, you will hear several passages. Listen to the passages carefully and then answer the

questions that follow.

Questions 11 to 13 are based on the following passage. At the end of the passage, you will be given

15 seconds to answer the questions. Now, listen to the passage.

11.

12.

13.

Why did Einstein leave Germany when Hitler came to power?

A. Because he had been persecuted all the time.

B. Because he anticipated Nazi persecution.

C. Because he wanted to go to support Zionism.

D. Because he was in a very difficult position.

The Manhattan Project seems to be a project

A. for anti-fascism " B. for anti-semitism

C. for nuclear weapons D. for pacifism and Zionism
Which of the following is true, according to the passage you have just heard?
A. Einstein took part in the Manhattan Project together with a Leo Szilard.

B. Einstein wrote a letter to inform Roosevelt of the possible atomic bomb.
C. Einstein was asked to deliver speeches on peace, and on many other topics.

D. Einstein was opposed to war by writing extensively on peace in Germany.

Questions 14 to 16 are based on the following passage. At the end of the passage, you will be given

15 seconds to answer the questions. Now, listen to the passage.

14.

15.

16.

What do children tend to feel when their parent drinks a lot?
A. They have caused their parent to drink a lot.

B. They have felt sick at their alcoholic parent.

C. They are inclined to change their favorite drink.

D. They will like drinking all the time as their parent.

Which of the following is NOT true, according to the passage?
A. Usually, alcoholics would like to stop drinking.

B. Usually, alcoholics find it hard to stop drinking.

C. Usually, alcoholics prefer not to stop drinking.

D. Alcoholics would only be forced to stop drinking.

What kind of meetings will alcoholics go to during the time of rehabilitation?
A. The meeting where alcoholics drink together.

B. The meeting where alcoholics pay for their own drinks.
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C. The meeting where alcoholics meet and talk and help each other.

D. The meeting where alcoholics are hospitalized and taken care of.

Questions 17 to 20 are based on the following passage. At the end of the passage, you will be given

20 seconds to answer the questions. Now, listen to the passage.

17. Muhammad Ali started to learn boxing because

A. he was very much interested in the sport B. he intended to revenge on the bike thief

C. he found a policeman as his best trainer D. he had got boxing lessons from the police
18. When did Muhammad Ali win his first Olympic gold medal?

A. 1962, B. 1960. C. 1954. D. 1964.

19. Which of the following is true, according to the passage?
A. Muhammad Ali had been in prison for four years.
B. Muhammad Ali restarted his boxing career in 1972,
C. Muhammad Ali ended his career because of illness.
D. Muhammad Ali knocked out Archie More in the 5th round.
20. Muhammad Ali was put into prison and had to pay a fine of
A. 1,000 dollars B. 5,000 dollars C. 10,000 dollars D. 11,000 dollars

SECTION C NEWS BROADCAST

Questions 21 and 23 are based on the following news. At the end of the news item, you will be given

15 seconds to answer the questions. Now, listen to the news.

21. European leaders trying to give Saddam Hussein .

A. a last resort B. a warning C. a deadline D. a setback
22. What is the attitude of Germany towards the crisis with Baghdad?

A. Insisting on the peaceful solution of the crisis.

B. Believing that war is inevitable.

C. Opposing war under any circumstances.

D. Declaring U. S. military action is unnecessary.
23. Which of the following statements is NOT true, according to the news?

A. European leaders are trying to end their bitter dispute over Iraq.

B. European leaders have already ended their bitter dispute over Iraq.
C. European leaders have not yet ended their bitter dispute over Iraq.
D

- European leaders are divided in their attempt to end their dispute over Iraq.

Questions 24 and 25 are based on the following news. At the end of the news item, you will be given

10 seconds to answer the questions. Now, listen to the news.

x ]
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24. A new mobile phone launched by German technology conglomerate Siemens is
A. equipped with a camera B. linked with a computer
C. introduced with a fashion D. shown as a new brand
25. German technology conglomerate Siemens showed its new mobile phones
A. at a news conference B. at a mobile trade show

C. at a mobile handset unit D. at a mass market

Questions 26 and 27 are based on the following news. At the end of the news item, you will be given

10 seconds to answer the questions. Now, listen to the news.

26. How many old people have been examined for the research?

A. 815. B. 855. C. 831. D. 865.
27. What kind of people is more likely to develop, or suffer from Alzheimer’s?

A. People who are older than 65. B. People who are physically weak.

C. People who consume saturated fat. D. People who consume ordinary oil.

Questions 28 and 29 are based on the following news. At the end of the news item you will be given

10 seconds to answer the questions. Now, listen to the news.

28. According to the news, the American space shuttle Columbia failed

A. on Jan. 3rd B. on Feb. 1st C. on Mar. 4th D. on Jan. 2nd
29. The difference between the two versions of the timeline by NASA is

A. 30 seconds B. 5 minutes and 30 seconds

C. 7 minutes and 30 seconds D. 3 minutes and 30 seconds

Question 30 is based on the following news. At the end of the news item, you will be given 5 seconds

to answer the question. Now, listen to the news.

30. Australia reacted towards the French test by

A. expressing her regret B. expressing disapproval
C. describing the test as insignificant D. recalling her ambassador to Paris
PART I CLOZE [15 MIN]

Decide which of the choices given below would best complete the passage if inserted in the

corresponding blanks. Mark the best choice for each blank on your answer sheet.

Are you thinking about trying out a political career but your

(31) . are a little low for a presidential bid? You have until 31. A. funds



